Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: May 25, 2016 Invitation to Bid No. 16-05-94

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

2nd Publication

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
100-16-04-286	Spare parts	72,840.00	General Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	pcs	Tire lug 10.00 x 20	6	12,140.00	72,840.00
		TOTAL			72,840.00

Pre-bid Conference	June 2, 2016 at 2:00 o'clock in the afternoon
	Conference room, Mayor's office this municipality
Deadline of Submission Technical & Financial Documents	June 10, 2016 not later than 12:00 o'clock noon
Chening of Rigs	<u>June 10, 2016</u> at 2:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st floor, Municipal Hall. Bid documents with complete listing and specifications of the items for bidding shall be issued only to bidders upon payment of a non-refundable bid fee of Php 500.00 only

All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, Evaluation of Bids, Post-Qualifications of the Lowest Calculated and Responsive Bid, and Bid Security shall be governed by the provision of existing laws, rules and regulations.

MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the bidding process and reject all Bids anytime prior to the award of contract without thereby incurring any liability to the affected Bidders or any obligation to inform the affected Bidder or Bidders of the ground for MBED's action and accept such bid as may be considered advantageous to MBED.

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE,MPA BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

RAFAEL L. ALCONES BAC Chairperson

Republic of the Philippines
Province of Davao del Norte
Municipality of Braulio E. Dujali
-oOo-

Date: May 25, 2016 Invitation to Bid No. 16-05-95

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
100-16-04-266	Fuel, Oil & Lubricants	548,000.00	General Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	ltrs.	Diesel	7,429	38.90	288,988.10
2	Itrs.	Oil 40	36	4,500.00	162,000.00
3	ltrs.	Oil Filter	4	1,000.00	4,000.00
4	ltrs.	Gasoline	1,200	39.00	46,800.00
5	ltrs.	Grease	2	4,700.00	9,400.00
6	Itrs.	Oil 40	4	1,100.00	4,400.00
7	ltrs.	Brake Fluid	54	400.00	21,600.00
8	gals	ATF	5	1,200.00	6,000.00
9	pcs	Fuel Filter	4	1,200.00	4,800.00
					-
		TOTAL			547,988.10

Pre-bid Conference	June 2, 2016 at 2:00 o'clock in the afternoon		
Venue of Pre-bid Conference	Conference room, Mayor's office this municipality		
& Financial Documents	June 10, 2016 not later than 12:00 o'clock noon		
Opening of Ride	June 10, 2016 at 2:00 o'clock in the afternoon at Conference room,		
Opening of Bids	Mayor's office, this municipality		

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE,MPA BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

RAFAEL L. ALCONES BAC Chairperson

Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: May 25, 2016

Invitation to Bid No. 16-05-96

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
100-16-04-265	Fuel, Oil & Lubricants	276,720.00	General Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	ltrs	Diesel	5,382	38.90	209,359.80
2	ltrs	Gasoline	1,200	39.00	46,800.00
3	pail	Oil 10	4	4,500.00	18,000.00
4	ltrs	Oil 40	2	1,100.00	2,200.00
5	ltrs	Brake fluid	1	350.00	350.00
					-

			-
			-
			-
			-
	TOTAL		276,709.80

Pre-bid Conference	June 2, 2016 at 2:00 o'clock in the afternoon		
Venue of Pre-bid Conference	Conference room, Mayor's office this municipality		
& Financial Documents	June 10, 2016 not later than 12:00 o'clock noon		
Opening of Ride	June 10, 2016 at 2:00 o'clock in the afternoon at Conference room,		
Opening of Bids	Mayor's office, this municipality		

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE,MPA BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

RAFAEL L. ALCONES BAC Chairperson

Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: May 25, 2016

Invitation to Bid No. 16-05-98

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
100-16-04-284	Hardware Supplies	96,295.00	General Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
		PLUMBING			-

1	pcs	Ball value 1/2"Ø (Brass)	12	150.00	1,800.00
2	pcs	PVC Elbow 1/2" Ø	20	35.00	700.00
3	pcs	PVC Elbow 1/2" Ø Threaded	20	35.00	700.00
4	pcs	PVC Male Adoptor 1/2"Ø	20	15.00	300.00
5	pcs	PVC Female Adoptor 1/2" Ø	20	15.00	300.00
6	tin	PVC Solvent 100CC	10	60.00	600.00
7	pcs	Lavatory Faucet (Goose neck)	6	650.00	3,900.00
8	sachet		10	75.00	750.00
9	set	Non Sag Pioneer Epoxy (1 quart)	1	680.00	680.00
10	рс	PVC Pipe Cutter 0-42mm Ø	1	950.00	950.00
	<u> </u>	ELECTRICAL			-
11	pcs	CFL 9 Watts	40	110.00	4,400.00
12	pcs	CFL 23 Watts	50	150.00	7,500.00
13	pcs	Circular Lamp Ballast 32W	20	120.00	2,400.00
14	pcs	Flourescent Starter	100	10.00	1,000.00
15	pcs	Circuit Breaker 20 Amps (plug in)	5	250.00	1,250.00
16	sets	Circuit Breaker 30 Amps	5	475.00	2,375.00
		w/ PLASTIC ENCLOSURE			-
17	roll	THW Wire # 14	1	2,950.00	2,950.00
18	roll	THW Wire # 12	1	4,100.00	4,100.00
19	roll	THW Wire # 10	1	5,950.00	5,950.00
20	roll	Flat Cord # 16	1	4,150.00	4,150.00
21	pcs	Electrical Tape (big) Flame retardant	10	60.00	600.00
22	roll	CPC 1/2" Ø (Moldflex)	1	600.00	600.00
23	roll	CPC 3/4" Ø (Moldflex)	1	850.00	850.00
24	pcs	Expansion Bolt 3/8"Ø x 4	20	35.00	700.00
25	pcs	Screw w/ plastic THOX #8Øx1"	500	5.00	2,500.00
26	pcs	Rubberized Male Plug (Heavy Duty)	5	35.00	175.00
27	pcs	Convenience Outlet 3 Gang	5	68.00	340.00
		(SPRING TYPE) SURFACE			-
28	sets	ACU Outlet w/ Plate & Cover	10	180.00	1,800.00
29	pcs	PVC Switch Box	10	40.00	400.00
		CARPENTRY & MASONRY			-
30	pcs	CLAW bar # 30"	2	680.00	1,360.00
31	pcs	CLAW Hammer (Heavy Duty)	2	820.00	1,640.00
32	pcs	Cross Cut Saw # 22	2	480.00	960.00
33	рс	Wood Chisel 1/2"	1	65.00	65.00
34	рс	Wood Chisel # 1"	1	110.00	110.00
35	рс	Wood Chisel # 1 1/2"	1	180.00	180.00
36	рс	Wood Chisel # 2"	1	230.00	230.00
37	pcs	Miter Square # 12"	2	150.00	300.00
38	pcs	Steel Measuring	2	475.00	950.00
39	mtr.	Hose Level (green)	15	20.00	300.00
40	unit	Electrical Wood Planer 700W x 4 3/8"	1	8,750.00	8,750.00
41	рс	Reviter (Heavy Duty)	1	650.00	650.00
42	рс	Hole Saw (Heavy Duty)	1	560.00	560.00
43	pcs	Pointed Throwel (Medium)	2	180.00	360.00
44	pcs	Palin Throwel # 24	2	260.00	520.00
45	рс	Ball Peen Hammer 12 oz	1	260.00	260.00
46	рс	Ball Peen Hammer 16 oz	1	380.00	380.00

	•				
60	pcs pcs	Masonry Drill Bit # 1/4" Ø	2	180.00	360.00
61	pcs	Masonry Drill Bit # 3/16"Ø	3	110.00	330.00
62	pcs	Masonry Drill Bit # 1/8" Ø	3	75.00	225.00
63	рс	Steel Drill Bit 1/2" Ø	1	600.00	600.00
64	рс	Steel Drill Bit 3/8" Ø	1	390.00	390.00
65	pcs	Steel Drill Bit 5/16"Ø	2	250.00	500.00
66	pcs	Steel Drill Bit 1/4" Ø	2	175.00	350.00
67	pcs	Steel Drill Bit 3/16"Ø	3	150.00	450.00
68	pcs	Steel Drill Bit 1/8" Ø	3	120.00	360.00
69	рс	Bench Vise # 10"	1	2,680.00	2,680.00
70	рс	Sledge Hammer 1 kl	1	400.00	400.00
71	рс	Sledge Hammer 3 kl	1	700.00	700.00
72	рс	Carbon Brush for Makita Grinder	1	95.00	95.00
73	рс	Carbon Brush for Makita Cut-Off Machine	1	160.00	160.00
74	рс	Carbon Brush for HILTI Hand Drill TE2	1	160.00	160.00
75	рс	Carbon Brush for Makita Hand Drill	1	160.00	160.00
76	unit	Jig Saw 400W	1	5,000.00	5,000.00
77	рс	Hacksaw Frame (HD)	1	350.00	350.00
78	pcs	Hacksaw Blade 18TPI	5	90.00	450.00
					-
					-
		TOTAL			96,295.00

Pre-bid Conference	June 2, 2016 at 2:00 o'clock in the afternoon
	Conference room, Mayor's office this municipality
& Financial Documents	June 10, 2016 not later than 12:00 o'clock noon
()nening of Ride	June 10, 2016 at 2:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality

For inquiries, clarification and more information, please call contact:

BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

RAFAEL L. ALCONES BAC Chairperson

Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: May 25, 2016 Invitation to Bid No. 16-05-99

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

PR NO. PARTICULARS		APPROVED BUDGET	FUND SOURCE
PK NO.	PARTICULARS	COST	FOND SOURCE
100-16-04-260	Supply & Delivery of Construction Materials & Supplies for Recovery	197,709.00	General Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	Bags	Portland Cement	192	285.00	54,720.00
2	Pcs	12mm dia. X 6m RSB	60	175.00	10,500.00
3	Pcs	8mm dia. X 6m RSB	40	125.00	5,000.00
4	Kilo	G.I Tie wire no. 16	12	95.00	1,140.00
5	Pcs	4" thk. CHB	1,795	12.00	21,540.00
6	Lengths	10mm dia. X 6m RSB	75	155.00	11,625.00
7	mts	1/8" Aluminum Screen	2	95.00	190.00
8	Pcs	2 x 2 x 10' coco lumber	80	60.00	4,800.00
9	pcs	2 x 3 x 10' coco lumber	60	90.00	5,400.00
10	pcs	5mm thk. Ordinary plywood	5	360.00	1,800.00
11	Kilo	CW nails no. 4	3	85.00	255.00
12	Kilo	CW nails no. 3	2	85.00	170.00
13	Kilo	CW nails no. 2 1/2	2	85.00	170.00
14	Kilo	CW nails no. 1 1/2	1	85.00	85.00
15	Kilo	Concrete nails no. 4	1	110.00	110.00
16	Units	Panel Door (900mm x 2100) w/ Jamb	3	6,500.00	19,500.00
17	Pcs	Door knob (Heavy Duty)	3	480.00	1,440.00
18	Pcs	Hinges (Heavy Duty) Butterfly	9	85.00	765.00
19	Lengths	1.5mm x 2 x 6 C-Purlins	6	750.00	4,500.00
20	Lengths	1.2mm x 2 x 4 C-Purlins	24	650.00	15,600.00
21	Lengths	3/16" x 1 x 1 Flat bar	6	450.00	2,700.00

22	Lengths	3/16" x 1 x 1 Angle bar	15	350.00	5,250.00
23	Pcs	19mm thk. Marine plywood	4	1,350.00	5,400.00
24	Pcs	Gauge #24 Corrugated G.I Sheet 12'	48	420.00	20,160.00
25	Pcs	Gauge #24 Palin G.I Sheet 8'	3	260.00	780.00
26	Bxs	Welding rod	5	550.00	2,750.00
27	Pcs	2" tekscrew	500	2.00	1,000.00
28	Qrt.	Vulcaseal	1	359.00	359.00
					-
		TOTAL			197,709.00

Pre-bid Conference	June 2, 2016 at 2:00 o'clock in the afternoon		
	Conference room, Mayor's office this municipality		
& Einancial Documents	June 10, 2016 not later than 12:00 o'clock noon		
I DOMING OF RIGE	June 10, 2016 at 2:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality		

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE, MPA BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

RAFAEL L. ALCONES
BAC Chairperson

Republic of the Philippines
Province of Davao del Norte
Municipality of Braulio E. Dujali
-oOo-

Date: May 25, 2016

Invitation to Bid No. 16-05-100

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
100-16-04-261	Supply & Delivery of Construction Materials & Supplies for	154,955.00	General Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	bags	Portland cement	220	275.00	60,500.00
2	Pcs	6" thk. CHB	1,650	16.00	26,400.00
3	Lengths	9mm dia. X 6.0m RSB	45	125.00	5,625.00
4	Lengths	10mm dia. X 6.0m RSB	125	145.00	18,125.00
5	Lengths	12mm dia. X 6.0m RSB	80	185.00	14,800.00
6	Pcs	PVC Pipe # 2	2	90.00	180.00
7	kls.	G.I Tie wire # 16	25	85.00	2,125.00
8	cu.m	Washed Gravel	20	700.00	14,000.00
9	Pcs	2 x 4 x 10 coco lumber	60	106.00	6,360.00
10	Pcs	2 x 2 x 10 coco lumber	20	54.00	1,080.00
11	Pcs	5mm thk. Marine plywood	6	450.00	2,700.00
12	kls.	CWN nails # 4	12	90.00	1,080.00
13	kls.	CWN nails # 3	10	90.00	900.00
14	kls.	CWN nails # 2	8	90.00	720.00
15	kls.	CWN nails # 1 1/2	4	90.00	360.00
		TOTAL			154,955.00

Pre-bid Conference	June 2, 2016 at 2:00 o'clock in the afternoon		
Venue of Pre-bid Conference	Conference room, Mayor's office this municipality		
& Financial Documents	June 10, 2016 not later than 12:00 o'clock noon		
Opening of Bids	June 10, 2016 at 2:00 o'clock in the afternoon at Conference room,		
Opening or blus	Mayor's office, this municipality		

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE, MPA BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

RAFAEL L. ALCONES BAC Chairperson

Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: May 25, 2016

Invitation to Bid No. 16-05-102

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

1st Publication

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
300-16-01-018	Tools & Equipment	199,000.00	Trust Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	pcs	Bid Caldero (Ø) 20 inches	4	5,100.00	20,400.00
2	pcs	Stainless Caserola (Ø) 40 cm	10	2,780.00	27,800.00
3	set	Various candle molder	10	2,250.00	22,500.00
4	unit	Heavy Duty LPG Stove w/ hose & regulator	3	2,200.00	6,600.00
5	unit	LPG Cylinders with content (50 kls.)	3	3,000.00	9,000.00
6	kls	German Polythelene hardener	10	300.00	3,000.00
7	kls	Candle Coloring	5	2,500.00	12,500.00
8	kls	3-ply Wick	5	300.00	1,500.00
9	bot	Candle Scent (any kind of scent)	10	120.00	1,200.00
10	bund	Nylon Wick	10	2,200.00	22,000.00
11	sack	Parafin Wax	15	4,500.00	67,500.00
12	pack	Wick Sustainer	10	500.00	5,000.00
					-
		TOTAL			199,000.00

Pre-bid Conference	June 2, 2016 at 2:00 o'clock in the afternoon	
Venue of Pre-bid Conference	Conference room, Mayor's office this municipality	
& Financial Documents	June 10, 2016 not later than 12:00 o'clock noon	
Opening of Rids	June 10, 2016 at 2:00 o'clock in the afternoon at Conference room,	
Opening of Bids	Mayor's office, this municipality	

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st floor, Municipal Hall. Bid documents with complete listing and specifications of the items for All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

RAFAEL L. ALCONES BAC Chairperson

Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: May 25, 2016

Invitation to Bid No. 16-05-97

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

2nd Publication

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
100-16-04-267	Fuel, Oil & Lubricants	61,797.00	General Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	ltrs	Diesel	1500	28.90	43,350.00
2	ltrs	Gasoline	473	39.00	18,447.00
					-
					-
					-
					-
					-
					-
				·	-
					-
		TOTAL			61,797.00

Pre-bid Conference	June 2, 2016 at 2:00 o'clock in the afternoon	
	Conference room, Mayor's office this municipality	
& Financial Documents	June 10, 2016 not later than 12:00 o'clock noon	
IONENING OF KIGS	June 10, 2016 at 2:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality	

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st floor, Municipal Hall. Bid documents with complete listing and specifications of the items for All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE, MPA BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: May 25, 2016

Invitation to Bid No. 16-05-103

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

1st Publication

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
300-16-05-065	Fuel, Oil & Lubricants	107,125.00	Trust Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	ltrs	Diesel	2185	38.90	84,996.50
2	ltrs	Gasoline (Premium/Gold)	20	40.00	800.00
3	Pail	Oil 10	4	4,500.00	18,000.00
4	Pail	Oil 40	3	1,100.00	3,300.00
					-
					-
					-
					-
					-
					-
		TOTAL			107,096.50

Pre-bid Conference	June 2, 2016 at 2:00 o'clock in the afternoon	
Venue of Pre-bid Conference	Conference room, Mayor's office this municipality	
& Financial Documents	June 10, 2016 not later than 12:00 o'clock noon	
Opening of Ride	June 10, 2016 at 2:00 o'clock in the afternoon at Conference room,	
Opening of Bids	Mayor's office, this municipality	

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st floor, Municipal Hall. Bid documents with complete listing and specifications of the items for All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE, MPA BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

RAFAEL L. ALCONES BAC Chairperson